
Trinity Awards and Certificates in ESOL Skills for Life
Writing — Generic performance descriptors

Learning outcome 1 — Plan text (Entry 3, Level 1, Level 2 only)

Mark Descriptor

4
The candidate has made fairly detailed and highly relevant plans for one, two or three tasks 
depending on appropriacy to question tasks set (not the text message).

2
There is at least some evidence of a plan relating to one or more tasks. If only one task has been 
planned, it is not the text message.

0

There is little or no evidence of an attempt to meet the assessment criterion. Either no plan has 
been made at all or just a few words have been noted which bear little or no relation to any of  
the actual tasks.

Candidates who plan ONLY the text message are awarded 0 as they have not demonstrated the 
ability to decide when it is appropriate to make a plan.

Learning outcome 1 — Produce text (Entry 1, Entry 2) 
Learning outcome 2 — Produce text (Entry 3, Level 1, Level 2) 

Mark Descriptor

4
A wide range of the features of the amplification can be identified at the level with consistency 
and comprehensive control.

3
Several appropriate features of the amplification can be identified at the level. These are  
fairly consistent.

2
One or two appropriate examples of the amplification can be identified at the level. These are not 
consistent but the candidate demonstrates their ability to meet the relevant criterion, albeit minimally.

1
There is evidence of an attempt to meet the assessment criterion using language of the level,  
but this is not successful. Attempts to meet the criterion may be incomplete or inappropriate.

0
There is little or no evidence of an attempt to meet the assessment criterion. The candidate writes 
almost nothing at the relevant level.

Learning outcome 2 — Complete a form (Entry 1, Entry 2)
Learning outcome 3 — Complete a form (Entry 3, Level 1, Level 2)

Mark Descriptor

4
All or almost all of the form is completed with a high level of appropriacy. All communicative aims 
of the form are achieved.

3
Around two-thirds of the form is completed appropriately. Answers may occasionally be incomplete 
or inappropriate but the form achieves its main communicative aims.

2
At least half of the form is completed appropriately, with enough information provided to enable the 
form to achieve its primary communicative aim.

1
The communicative purpose is not fulfilled because key information is missing or inappropriately 
completed. Fields may be incomplete or inappropriately answered.

0
There is little or no evidence of an attempt to meet the assessment criterion. The candidate writes 
nothing or almost nothing at all.


